denepanbHOE TOCYAaPCTBEHHOE OI0PKETHOE 00pa30BaTENbHOE YUPEKIACHHUE
BBICITIETO 00Opa30oBaHUs
«HoBocubupckwii rocy1apcTBEHHBIN TEXHUYIECKIH YHHBEPCUTET»

Kadenpa nHOCTpaHHBIX S3bIKOB TEXHUYECKHUX (DaKyJIbTETOB

HacnopT IK3aMCHa

1O JUCLMIIIIMHE ((HHOCTpaHHBIﬁ A3BIK A3BIK IJIA Hay‘lHO-HCCHeI[OBaTeHBCKOﬁ ACATCIIBHOCTH )

2 ceMecTp

1. Crpykrypa 3k3amena
IIncbMenHas yacThb

1. Jlexcuko-rpaMMaTHYECKUNA TECT

2. TlucpbMeHHBIH nepeBo/l C UHOCTPAHHOT'O HA PYCCKUM S3bIK CO CIIOBAPEM
YcrHas yacthb (0ueT)

1. MoHonoruueckoe BbICKa3bIBaHUE

2. YcTHOe pedepupoBaHHE HA HHOCTPAHHOM SI3BIKE

2. MeToanka oneHKHn

DK3aMeH POBOIUTCS B MMCHbMEHHOI U yCTHOH (hopme.
Tucvmennas yacTh BKIIFOYAET:
- BBIOJHEHHE TECTOBBIX 3aaHUi C HCHOJB30BAHUEM OJJIEKTPOHHOM HH(OpPMALIMOHHO-
obpazoBarenbrort cpenst HI'TY  (https://dispace.edu.nstu.ru/ditest/test/index/17514); TtecroBbie
3a7aHusl  OXBaTHIBAIOT JIEKCHMKO-TPAMMATHUECKUH Marepuall COJCPXKAHUS TUCIHUILINHBI
«MHOCTpaHHBIN fA3bIK AJI1 HAYYHO-HCCIIEA0BATEIbCKON AESITEIbHOCTH» BO 2 CEMECTPE, TECT
coctouT u3 40 BOMpPOCOB U MO3BOJISIET POBEPUTH YPOBEHb CHOPMUPOBAHHOCTU JIEKCHYECKUX U
rpaMMaTUYeCKUX HAaBBIKOB (I1.6);
- BBINOJIHEHUE IHMCBMEHHOIO IEPEBOJAa C WHOCTPAHHOIO HAa PYCCKHH S3BIK CO CJIOBapeEM
po(heCCHOHAITLHO-OPHEHTUPOBAHHOTO TEKCTa 00beMoM 1500 rmeyaTHbIX 3HAKOB (I1. 7).
Yemuas gacTb BKITFOUAET OTBETHI HAa BOTIPOCHI OMJIeTa.
bunet coctout u3 2 BorpocoB 1 popMupyeTcs 1o CIEAYIOIEMY ITPABUITY.
- TEpBBI BONPOC BKJIIOYAET MOHOJOIMYECKOE BBICKAa3bIBAaHME IO OJHOM M3 8-X TeM,
M3YYEHHBIM B TEUEHHE JBYX CEMECTPOB (11. 5);
- BTOPO# BOIPOC BKIIIOYAET YCTHOE pedepupoBaHUe HAa HHOCTPAHHOM SI3bIKE MPOECCHOHATBHO-
OPHEHTUPOBAHHOTO TeKkcTa 00beMoM 2000 neyaTHbIX 3HAKOB (11. 8).

Taxkum 006pazom, IPOBEPSAIOTCS pe3yabTaThl 00yUeHHs MO AUCHUILIMHE, COOTHECEHHBIE C
YCTaHOBJIEHHBIMHU B IPOrpaMMe UHIMKATOPAMHU JOCTUKEHHSI KOMIIETEHIUI.

Ha sx3amene npenopasaTens BIIPaBe 3a/1aBaTh CTYAEHTY YTOUHSIOIINE U JOIOJHUTEIbHbIE
BOTPOCHI 110 TeMaM (1. 5).



DopMa sK3aMeHaIMOHHOrO OusieTa

HOBOCUBUPCKMI TOCYJIAPCTBEHHBIN TEXHUYECKU YHUBEPCUTET
®akynerer MTO
Buier Ne
K 3K3aMeHYy M0 JucUUIUIMHE «IHOCTpaHHBIN A3BIK U1 HAYYHO-UCCIEA0BATEIbCKON
JIEATEIbHOCTH

Bompoc 1. [TonroroBbTe MOHOJIOTMUYECKOE BBICKA3bIBAHUE 10 TEME .
Bormpoc 2. [IpounTaiiTe TEKCT U TOATOTOBLTE YCTHBIN pedepar Ha HHOCTPAHHOM SI3BIKE.

YTBepxaaro: 3aB. kadenpoit noueHt, boukapes A. U.
(TommCh)

(mata)

3. Kpurepuu oueHku pe3yJibTAaTOB 00y4UeHHSI, COOTHECEHHBIX C YPOBHSIMH OCBOEHHS
HHAUKATOPOB JI0CTUKEHUS] KOMIIeTeHIIUii

Yposensb (B 6asi1ax)

Bun 3aganust Heynosiiersopu- | Iloporosbiii ba3oBbrii IIpoaBuHYTHIN
TeJIbHbIN

IIncbMeHHas 4acTh

«Jlexkcuko- <6 8 10 12
rpaMMaTHYCCKUI
TECT»

«[IuceMeHHBbII <4 6 7 8
MIEPEeBOJI CO
CIIOBapeM»

YcrHas yacth
(Oner)

Bompoc 1 <6 8 10 12
«MoHoioruueckoe
BEICKA3bIBAaHUE)

Bomnpoc 2 <4 6 7 8
«YcTHOE
pedepupoBaHue»

HUroro <20 28 34 40
0 BCEM 3aaHUAM

OTBer Ha PK3aMeHE 3aCUMTHIBAETCS Ha MPOABUHYTOM YPOBHE, €CJIU CTY/ICHT:

- IPABUJILHO BBINOJHSET OT 35 10 40 3a1aHuil TeCTa;

- BBINOJHSET THCBMEHHBIM TMEpPeBOJl, KOTOPHIA aJEKBaTE€H CMBICIOBOMY COJEPKAHUIO
HepBOI/ICTO‘—IHI/IKa;

- TIpY YCTHOM OTBETE Ha TMEPBBI BOMPOC IK3aMEHAIMOHHOTO OWiIeTa IEMOHCTPUPYET YMEHHUE B
HOHFOTOBHGHHOﬁ petm B (1)opMe MOHOJIOTHYECCKOT O BBICKa3bIBaHUA, xapaKTepmy}omerocsI
YETKON JIOTMKOM, CBSI3HOCTBIO M TOCIEJOBATEIbHOCTHIO, U IO3BOJISIONIETO IMOHSATH Pa3BUTHE
TEMBI; IIPUBOJIUT IOCTATOYHOE KOJUYECTBO (DAKTOB M apTyMEHTOB JIsl IOKA3aTeIbCTBA TE3HCOB,
UCIIOJIb3YEeT IIUPOKUNA JUANa30H TPaMMaTHYECKUX M JIEKCUYECKHUX CTPYKTYp, HCHOJIb3YyeT
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JAaHHBIC S3BIKOBBIE CPENICTBA KOPPEKTHO;
- IpU YCTHOM OTBETE HA BTOPOI BOMPOC SK3aMEHAI[MOHHOTO OWJIeTa JEMOHCTPUPYET YMECHHE B
pedepupoBaHum, TMPEACTABIsAs YCTHBIA pedepar, coiepkaHHE U CTPYKTypa KOTOPOTO
MOJTHOCTHIO COOTBETCTBYIOT — JKaHPY HH(OPMATUBHOTO pedepaTa, HCHOIb3YET S3BIKOBBIC
CPEICTBAa COOTBETCTBYIOIIUE CTWIF0 HAydHOWM pEeUYd ¥ YCTHOH pPa3HOBUAHOCTH IKaHPA,
yIOTpeONsieT  TpaMMaTUYeCKHe, JICKCHYeCKHEe W CHHTAaKCHYeCKHe  TpaHchopmaiuw,
OOIICHAYYHYIO JIEKCUKY W aJCKBAaTHYI TEPMUHOJIOTHIO, HCIIOJIB3YeT IIMPOKUHN JaHAara3oH
CPEZCTB CBSI3H, YIOTPEOIISIET JICKCUKO-TPAMMATHYECKUX CIMHUIIBI KOPPEKTHO;
- cyMMa OaJUIOB IO BCEM 3aaHuUsM (MIUChMEHHAS U YCTHAS 4acTh) COCTaBIsieT oT 35 1o 40 6ayuios.
COBOKYITHOCTh PE3yJbTaTOB OOYYEHHUS [0 ITUCHUIUIMHE M COOTHECEHHBIX C HHUMH
WHIWKATOPOB JOCTH)KCHUS KOMIICTCHIIMH HE COAEPKHUT MpoOeroB. YCTAaHOBJICHHBIE B
mporpamMme KOMITETCHIIMKM C(OPMHUPOBaHbBI B TTOJIHOM oO0beme. OreHka cocrasisier om 35 oo 40
bannos.

OTBeT Ha SK3aMEHE 3aCUMTHIBACTCS HA 0230BOM YPOBHE, €CIIU CTYICHT:
- IPAaBWJIBHO BBINOJHAET OT 29 10 34 3aanuii Tecra;
- BBINOJIHSET NMUMCbMEHHBIA MEPEBOJ, KOTOPBIMA IMOJHBIN, aJ€KBATEH CMBICIOBOMY COJECP/KAHUIO
MIEPBOMCTOYHUKA U COJIEPIKUT 2—3 CMBICIIOBBIC HETOYHOCTH
- TIpY YCTHOM OTBETE Ha IEPBBIA BOMPOC IK3aMEHAIMOHHOTO OWJIeTa IEMOHCTPUPYET YMECHHUE B
MOJATOTOBJICHHON pedyr B (popMe MOHOJOTHYECKOTO  BBICKA3bIBAHUS, XapaKTEPU3YIOIIETOCs
YETKOW JIOTHKOW, CBA3HOCTBIO U MOCIIECIOBATEILHOCTHIO, TTO3BOJISIONICH ITOHSATh PA3BUTHE TEMBI,
HE MPUBOJIUT JOCTATOYHOE KOJIMYECTBO ()aKTOB U apryMEHTOB JJsl JOKA3aTEIbCTBA TE3HCOB,
UCIIONB3YET TPOCTOM W SICHBIM SI3BIK HM3JIOKCHHSI, WCIIONB3yeT MPUEMBbI OO0OOINCHUS U
nepedpazupoBanusi, HO JOMYCKAaeT HE3HAYUTENbHbIE OIIMOKHM B BBIOOpPE JIEKCHUECKHX U
rpaMMaTHYCCKUX SUHHUII, JOITYCKAeT KOMMYHHUKATUBHO HE 3HAYUMEBIC OIIHOKH;
- IIPY YCTHOM OTBETE Ha BTOPOM BOIMPOC IK3aMEHAIMOHHOTO OWJIeTa IEMOHCTPUPYET YMEHHUE B
pedepupoBaHUM, MPEACTaBIAS YCTHBIA pedepaT coaepkaHue €W CTPYKTypa KOTOpPOro B
OCHOBHOM COOTBETCTBYIOT >XKaHpY HMH(opmaTtuBHOro pedepara, U aJeKBATHO OTPAXKAIOIIETO
OCHOBHYIO HJICIO TIEPBOMCTOYHHKA, CTYACHT HCIIOJIb3YeT KIUIIMPOBAHHBIE KOHCTPYKIMH, HE
COOTBETCTBYIOIIIME CTHJII0 YCTHOM HAYYHOH peYd WM JAHHOMY aHPY, HCIOIb3YeT MPUEMbI
0000meHuss u mnepedpasupoBaHus, JTOMYCKAaeT HEOOJIBIIIOE KOJUYECTBO JIEKCHMUYECKHX,
rpaMMaTHYECKUX OMIMOOK, HE BIUSIONINX HA TTOHUMAaHUE COACepKaHUS,
- cymMMa OaJIOB TI0 BCeM 3aJaHusIM (TIMChMEHHAsI M YCTHAs 9acTh) coctaBisieT ot 29 no 34 Gamios
BKITFOUHTENIBHO.

COBOKYITHOCTh PE3y/IbTaTOB OOYYEHHUS IO JTUCIHUIUIMHE W COOTHECEHHBIX C HHMH
WHAWKATOPOB  JOCTIDKEHHS  KOMIIETEHUIMH  COJEPKUT  HECYIIECTBEHHBIE  MPOOEbl.
YcTaHOBIIEHHBIE B TIporpaMMe KOMIIETEHIIMH C(HOPMHUPOBaHBI Ha 0a30BoM ypoBHe. OIlleHKa
cocTasisieT om 29 0o 34 64106 BKIIOUYATEIBHO.

OTBeT Ha 5K3aMeHe 3aCUMTHIBACTCS HA IOPOTOBOM YPOBHE, €CITH CTY/ICHT:
- IPaBWJIBHO BHIMONHsET OT 20 10 28 3amanuii TecTa;
- BBITIONTHSIET HEMOMHBIN (2/3 — 1/2 Bcero TekcTa) MUCbMEHHBIN MepeBo/I, I0MycKaeT 2—3 OUInOKU
B TIepe/Iaue CMBICIIOBOTO COCPKAHWS,
- IPU YCTHOM OTBETE Ha TMEPBBINA BOMPOC IK3aMEHAIMOHHOTO OMiIeTa IEMOHCTPUPYET YMEHUE B
MOJITOTOBJICHHON pedr B (pOpME MOHOJOTHYECKOTO BBICKA3bIBAaHUS IEIb H TeMa KOTOPOTO
packppiTa YacTHMYHO, M XapaKTepU3yeTCs HEYEeTKOW JIOTUKOW; CTYIeHT HE MPUBOIUT
JIOCTaTOYHOE KOJUYECTBO (PAaKTOB M apryMEHTOB JUIsSl JIOKA3aTelIbCTBA TE3HMCOB, JIONMyCKAeT
OIIMOKHU B BIOOpPE NEKCUYECKUX M TPAMMATHYECKHUX €UHHII, TOMYCKaeT He 3HAUUMBbIEe OLTHOKH,
UCTIBITBIBACT TPYJHOCTH, OTBEYAs HA BOIIPOCHI,
- P YCTHOM OTBETE HA BTOPOM BOMPOC IK3AMEHAIMOHHOTO OWIIeTa IEMOHCTPUPYET YMEHHUE B
pedepupoBaHuH, TPEACTABIISAS YCTHRIN pedepar cojepKaHue U CTPYKTypa KOTOPOTo YaCTHIHO
COOTBETCTBYIOT aHPY HH(POPMATHUBHOrO pedepara, W YaCTUYHO OTPAXKAIOIIETO OCHOBHYIO
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UJICI0 TIEPBOMCTOYHUKA, HAOII01aeTCs HE 3HAYUTENFHOE HAPYIIIEHUE JIOTHKU TIEPBOMCTOYHUKA, B
peur CTyJEHTa  HCIOJb3yeT B peYH JIEKCHUYECKMX W TIpaMMAaTUYECKUX €IUHHUIbI, He
COOTBETCTBYIOIIIME CTUJII0 YCTHOM HAYYHOM pE€4M, HCIOJIb3YEeT OIPAaHUYEHHBIM JUaIa30H
JICKCUYECKUX U IPaMMaTHYECKUX €IUHHI], CTYIEHT yIoTpeOsieT 3aydyeHHbIe (hparMeHThl TEKCTa
NEPBOMCTOYHUKA, HE HCIOJB3yeT NpUEMBbl O00O0OIIeHUS M mepedpa3upoBaHUs, TOMYCKAeT
HEOOJIBIIOE KOJIMYECTBO JIEKCUYECKUX M TPAaMMATHUECKUX OIIMOOK, BIMSIOIIMX HA MOHMMAaHUE
COJIepKaHus,

- cyMMa OaJjIoB 10 BCEM 3aaHusIM (ITUCBbMEHHAs U YCTHAs 4acTh) cocTaBisieT oT 20 1o 28 Gamios
BKJIIOUHTEITBHO.

COBOKYNHOCTh PpEe3y/lbTaTOB OOyYEHUS MO ITUCHMIUIMHE M COOTHECEHHBIX C HHUMU
MH/INKATOPOB JOCTI)KEHUSI KOMIIETCHLUH COAEPKUT MpoOenbl. YCTaHOBJICHHBIE B MPOTrpaMMe
KOMITETCHIIMM C(HOPMHUPOBAHBI Ha MOpPOroBoMm ypoBHe. Ouenka cocraisier om 20 do 28 bannos
BKJIIOUHTEITBHO.

Ot1Ber Ha HK3aMEHE CUMTACTCS HEYAOBJIETBOPHUTEILHbIM (HH:Ke NMOPOroBOr0 YPOBHS),

€CJIM CTYJICHT:
- IpaBWJIBHO BHITIONIHIET MeHee 20 3a1aHuii TecTa,
- BBIMOJIHSAET HETOJIHBIN (MeHee 1/2 Bcero TekcTa) MMCbMEHHBIN IepeBO/], YaCTUYHO a/IeKBATHBIN
CMBICJIOBOMY COJIEpYKAHUIO IEPBOUCTOYHMKA, IOMYyCTUN Oojee 3 owmuOOK Npu mepenayde
CMBICJIOBOTO COJCPKAHUS;
- IIPH YCTHOM OTBETE HAa TMEPBBI BOMPOC HK3aMEHAIIMOHHOTO OWJeTa HE JAEMOHCTPHPYET
yMEHHUE B IOJTrOTOBJIEHHOM pedr B (popMe MOHOJIOTMYECKOTO BBICKA3bIBAHUS, MOCKOJIBKY LIEJb
BBICKa3bIBaHUS He 0003HAuYCHA, BBHICKA3bIBAHWE HE CTPYKTYPHPOBAHO, COJEP)KAHHE YACTHYHO
COOTBETCTBYET 3asBJICHHOM TEeMe; CTYIEHT He TNPUBOAUT (akThl W apryMeHThl JUid
JIOKa3aTeIbCTBAa TE3HCOB, HCIIONB3YET 3aydeHHBIE IMPOCTHIE JIEKCHYECKHE M T'pPaMMaTUYEeCKHe
CTPYKTYpBI, JOIyCKAaeT OOJIbLIOE KOJMYECTBO JIEKCHYECKUX W TpaMMaTHYECKUX OIIMOOK, He
MOYKET OTBETUTH Ha BOTIPOCHI;
- [IpY YCTHOM OTBETE Ha BTOPOH BOIPOC 3K3aMEHALMOHHOI0 Ouiera He JeMOHCTPUPYET yMEHUE
B pedepupoBaHUM, MOCKOIBKY COAEPKAaHHE M CTPYKTypa MPEACTaBICHHOTO YCTHOTO pedepara
JMIIB YAaCTUYHO COOTBETCTBYIOT >KaHPY MH(OPMATHBHOIO pedepaTa, HE OTpakeHa OCHOBHas
ujies TEePBOMCTOYHHMKA, HAOIOJAeTCs HapyIIeHUE JIOTWKH TIEPBOMCTOYHHKA, CTYACHT B peUd
UCMOJIb3YyeT JIEKCHUYEeCKHe M T'paMMaTH4YeCKHUE €IUHMIIbI, HE XapaKTepHbIe IJs CTHJSA YCTHOM
HAYYHOH pedH, NCTIOIb3yeT OTPAHUYCHHBIN TUAITa30H JIEKCHYECKUX U TPAMMAaTHYECKUX €IUHUII,
HE UCIIOJIB3YET NpueMbl 0000111eHus U nepedpazupoBaHmsl, yOTpeOIseT 3aydeHHbIe (parMeHThI
TEKCTa MEPBOMCTOYHHUKA, JOMYCKAEeT OOJBIIOE KOJMYECTBO JIEKCHYECKUX W TPAMMAaTHUECKUX
OLIMOOK, HETATUBHO BIUSIOIINX HA TOHUMAaHUE;

- cymMa OaJuToB TIO BCEM 33/1aHMsIM (TIMChMEHHAS U YCTHAs YacTh) cocTaBisieT meree 20 banios

COBOKYIHOCTh pe3yJbTaTOB OOYyYEHHUS 10 JUCHMIUIMHE M COOTHECEHHBIX C HHUMH
WH/INKaTOPOB JTOCTHKEHUSI KOMIIETCHIIMI COIEPKUT CYIIECTBEHHBIE IPOOENBI. Y CTaHOBJICHHBIE
B IIpOrpaMMe KoMIleTeHIIMU He chopmupoBaHbl. OLieHKa cocTaBisieT meree 20 bannos.

4. IIxana oneHKH
DK3aMeH CUUTAeTCsl CIAHHBIM, €CJIM CyMMa OalJIoB IO BCEM 3aaHusIM OMIIeTa COCTABISAET OT
20 no 40 6amioB BKIounTeNbHO. CymMma MeHee 20 0ayuioB MpU3HAETCS HEYIOBIETBOPUTEIHHBIM

PE3yJIbTaTOM HpOMC)KyTO‘-IHOﬁ arTeCTalyu 10 JUCIUIIINHEC.

B oOmeit omneHke 0O IUCHMIUIMHE HK3aMEHAIIMOHHbIE Oaliabl YYUTHIBAIOTCS B
COOTBETCTBUHU C MPaBUIIAMU OaJITIbHO-PEUTUHIOBON CUCTEMBI, ycTaHOBIeHHbIMU B HI'TY.



5. Bompocs k 3k3aMeHy 1o aucuuminie « MTHOCTpaHHBIN SA3BIK 1JIs1 HAYYHO-
HCCIIEC0BATE/ILCKOM AeATeJIbHOCTI

Tembl o qucuunInHe K MHOCTpAHHBIN A3BIK /ISl HAY4YHO-HCCJIe0BATEIbCKOM
AeATeIbHOCTI (2 ceMecTp)

1. “History of science”

2. “My field of research”

3. “MSc program at NSTU”

4 “MSc program abroad”

5. “My research work”

6. “International academic conference”

7. “Academic Event | have attended recently”

8. “Upcoming conference”

6. [IpuMepHBIii TeCT /151 IK3aMeHa

YTBepxkaato:
3aB. kadenpoit A.W. boukapes
« » 20 1.
Tecr
110 AUCIIUIIJIIMHE ((I/IHOCTpaHHI)Iﬁ SA3BIK JI51 Hay‘lHO-I/ICCHeI[OBaTeHLCKOﬁ ACATCIIBHOCTHN»
Vocabulary
Fill in the blanks
1. Currently twenty-five scientists and researchers are contributing to research ___in the
school of thought.
a) fulfilled b) maintained c) carried out d) achieved

2. Students of Aircraft Faculty can major ____ Aircraft building, Aircraft strenght and other
directions.

a) at b) in c) for d) of

3. Students’ researches are being done under the _ of highly-qualified specialists.

a) supervision b) division c) authorization d) decision

4. The number of students  to the Master’s programs is 15 per cent of Bachelor’s program
graduates.

a) engaged b) submitted C) permitted d) admitted

5. Three factors have ___ to the rapid development and growth in the number of circuit
elements per chip.

a) contributed b) supported C) suggested d) advanced

6. An integrated circuit ___ of a single silicon chip containing transistors, diodes, resistors
and capacitors.

a) consists b) comprises c) includes d)contains

7. It is possible to __ from a BEng to the corresponding MEng programme as late as the end
of Year 2 provided you have made suitable progress.

a) transfer b) exchange C) overcome d) throw

8. In Electronic and Communication Engineering degree you gain an appreciation of the
of integrated circuits and a sound understanding of the basic electronic components of which
they are constituted.

a) substrates b) devices C) properties d) technology

9.  The opportunities for employment in the engineering profession are .

a) intensive b) persuasive C) extensive d) optional

10. A semiconductor is a material havinga ___in the range between conductors and insulators
and having a negative temperature coefficient.



a) occurrence b) impurity c¢) adherence d) resistivity

Grammar
11.  Recently much attention ___ to the study of this phenomenon.
a) is giving b) will be given  ¢) has been given d)is given

12.  The manufacture of silicon microcircuits ____ of a number of carefully controlled
processes, all of which have to be performed to well-defined specifications.

a)consists b) consisted C) is consist d) consisting

13. It is sometimes difficult to foresee all the effects new technology _ on the
environment.

a)need to produce  b)would producing c) could be produced d)may produce

14. A number of nuclear physicists, many of whom ___in Goettingen before, left Germany
in 1933.
a) worked b)had worked c) were working d)work

15. The inventor ___ his new device, with the workers watching its operation very
attentively.
a) demonstrated  b)had been demonstrating c)demonstrate  d)was demonstrating

Gerry Moschopoulos and Praveen Jain, Single-phase single-stage power-factor-corrected
converter topologies

Abstract
Single-phase single-stage power-factor-corrected converter topologies 16 _in this paper. The
topologies 17 in the paper are related to ac-dc and ac-ac converters that 18 on the basis

of the frequency of the input of ac source, the presence of a dc-link capacitor, and the type of
control used. The general operating principles and strengths and weaknesses of the converter,
which the authors 19 over the last decade, are discussed in detail, and their stability in
practical applications 20 ___. Considering practical design constraints, it is possible to
effectively employ many single-stage converter topologies in a wide range of applications.

16. a) is reviewing  b) are reviewed C) are reviewing d) is reviewed
17. a) discussing b) discussed c) been discussed d) discuss

18. a) are classified b) have classified c) are classifying d) classify

19. a) investigate b) have been investigated c) are investigating d) have investigated
20. a)stated b)is stating c)has been stated d) is stated
Etiquette

Choose the proper variant to complete the dialogue
— Good morning. RTA. Lisa speaking, how may | help you?
— Oh, hello. I have an appointment to see Dmitry Borovsky on Tuesday, but I’'m afraid I
can’t make it then. Would it be possible to change it?
—21
a) I’'m afraid not. Mr.Borovsky is on business trip at the moment and won’t be back till
Friday. Would you like to leave any message for him?
b) Just one moment. Yes, | can give you an earlier appointment, if you like.
c) Oh, I’'m sorry, I’m afraid he is too busy. Could you call later?
d) Well, let me see if it is possible. Could you wait a bit?
— Yes, that would be very helpful, thank you. Monday would be ideal.
— It’s quite possible.
— And one more question. Is he coming to the conference next week? | wanted to discuss
some questions with him.




—22
a) I’'m not sure. Probably not.
b) TI’ll let him know about it.
c) Yes, he’s giving a speech there.
d) Not this time.
— That’s great. It’s a good opportunity for him. I’ll see him on Monday then and we’ll
discuss everything in detail.

Reading Comprehension
Read the text concentrating on its message and the most essential details
The Choice and Statement of a Research Problem
by Edgar Bright Wilson

Many scientists owe their greatness not to their skill in solving problems but to their wisdom in
choosing them. It is therefore worth considering the points on which this choice can be based.
It is hard to justify the choice of a problem in the field of pure research. One of the most
important criteria is this: it should interest the investigator strongly. Scientific research, not being
a routine process but requiring originality and creative thought, is very sensitive to the
psychological state of the scientist. An uninterested worker is unlikely to produce the new ideas
necessary for progress. The problem should interest you so that you are willing to invest the time
in mastering a new field. One famous scientist has expressed this idea by saying that the problem
should be important in the larger picture of one’s view of the world.
Usually it is desirable to have new ideas of some sort before undertaking a problem, especially in
a field which has been extensively investigated before. It is true that very simple and apparently
obvious solutions have eluded experienced investigators and then been discovered by a new
worker much later. However, it is much often the case that an old problem is solved because
some new tool, experimental or theoretical, has become available from another source. For
example, the field of microwave spectroscopy has always been an attractive one, but until the
invention of magnetron and klystron oscillators, it could not be exploited.
It needs to be borne in mind that nature is far too vast to hope to chart its expanse in complete
detail. It is therefore important that every task undertaken should be selected because it is likely
to tell something about a wide area, rather than merely the immediate neighbourhood.
The most rewarding work is usually to explore a hitherto untouched field. These are not easy to
find today. However, every once in a while some new theory or new experimental method or
apparatus makes it possible to enter a new domain. Sometimes it is obvious to all that this
opportunity has arisen, but in other cases recognition of the opportunity requires more
imagination.
Abandoning a problem. The scientist who gives up too easily is unlikely to reap any great
harvest, but on the other hand it is also possible to be too tenacious. It is a wise man who knows
when to abandon a research or a field of research. No one can ever exhaust any field completely,
but there always comes a point where further work, with existing techniques and ideas, is
relatively less profitable than the same effort turned in other directions. Perhaps even earlier
there comes a time when the field had better be turned over to new blood. No one can be so
obstructive of progress as the “expert” who has worked all his life on a single subject.

(An Introduction to Scientific Research,1990, pp.1-3)
Is the following statement
23. This section is designed to introduce a reader to a problem of choosing a field for
investigation.

a) true? b) false? c) not available in the text?
24. The statement of a research problem should be thought over thoroughly.
a) true? b) false? ¢) not available in the text?

25. The researcher’s interest in the problem is of no great importance.
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a) true? b) false? ¢) not available in the text?

26. Every effort should be made to select issues which are significant or fit into a larger
pattern of inquiry.

a) true? b) false? c) not available in the text?

27. Science by its nature is a structure which grows by the addition of new material on top of a
great edifice formed by earlier workers.

a) true? b) false? ¢) not available in the text?

28. Afield of science which has never been investigated before is more likely to bring fruitful
results.

a) true? b) false? c) not available in the text?

29.  After undertaking a problem for investigation a researcher should think of some new ideas
he is going to propose.

a) true? b) false? ¢) not available in the text?
30. Not everyone can see that an opportunity has arisen to enter a new area of knowledge.
a) true? b) false? ¢) not available in the text?

31. Ascientist should never abandon the problem he is working at as no one can ever exhaust
any field completely.

a) true? b) false? c) not available in the text?

32. Research and innovations should improve living and working conditions and remedy the
negative effects of technical and social changes.

a) true? b) false? c) not available in the text?

Letter Writing

Arrange the parts of the e-mail letter in the proper logical sequence.

1) And again, on behalf of our University | would like to express our gratitude for your
invitation.

2) Our University considers this conference very important and | am looking forward with great
interest to participating in it.

3) Dear Mr. Surkov,

4) May | ask you to send me the preliminary programme and the working documents at your
earliest convenience.

5) I have received your kind invitation to take part in the conference on the future trends in
electronics.

6) Novosibirsk State Technical University.

7) Sincerely yours, Julia Krymova

8) It would be a pleasure to contribute to the work of the conference.

33-3 34-5 3-2 36-4 37-1 38-8 39-7 40-6

7.JIpuMepHBIi TEKCT AJIs1 IHCBMEHHOI0 NepeBoaa

IlepeBeanTe TEKCT HA PYCCKUH A3BIK MUCBMEHHO CO CJIOBapeM

What Is Mechanical Engineering?

Technically, mechanical engineering is the application of the principles and problem-solving
techniques of engineering from design to manufacturing to the marketplace for any object.
Mechanical engineers analyze their work using the principles of motion, energy, and force—
ensuring that designs function safely, efficiently, and reliably, all at a competitive cost.
Mechanical engineers make a difference. That's because mechanical engineering careers center
on creating technologies to meet human needs. Virtually every product or service in modern life
has probably been touched in some way by a mechanical engineer to help humankind.

This includes solving today's problems and creating future solutions in health care, energy,
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transportation, world hunger, space exploration, climate change, and more.

Being ingrained in many challenges and innovations across many fields means a mechanical
engineering education is versatile. To meet this broad demand, mechanical engineers may design
a component, a machine, a system, or a process. This ranges from the macro to the micro, from
the largest systems like cars and satellites to the smallest components like sensors and switches.
Anything that needs to be manufactured—indeed, anything with moving parts—needs the
expertise of a mechanical engineer.

What do mechanical engineers do?
Mechanical engineering combines creativity, knowledge and analytical tools to complete the
difficult task of shaping an idea into reality.
This transformation happens at the personal scale, affecting human lives on a level we can reach
out and touch like robotic prostheses. It happens on the local scale, affecting people in
community-level spaces, like with agile interconnected microgrids. And it happens on bigger
scales, like with advanced power systems, through engineering that operates nationwide or
across the globe.
Mechanical engineers have an enormous range of opportunity and their education mirrors this
breadth of subjects. Students concentrate on one area while strengthening analytical and
problem-solving skills applicable to any engineering situation.
Disciplines within mechanical engineering include but are not limited to:

e Acoustics

e Aerospace

e Automation

e Automotive

e Autonomous Systems

« Biotechnology

o Composites

o Computer Aided Design (CAD)

o Control Systems

o Cyber security

o Design

e Energy

o Ergonomics

e Human health

o Manufacturing and additive manufacturing

e Mechanics

« Nanotechnology

e Production planning

e Robotics

o Structural analysis
Technology itself has also shaped how mechanical engineers work and the suite of tools has
grown quite powerful in recent decades. Computer-aided engineering (CAE) is an umbrella term
that covers everything from typical CAD techniques to computer-aided manufacturing to
computer-aided engineering, involving finite element analysis (FEA) and computational fluid
dynamics (CFD). These tools and others have further broadened the horizons of mechanical
engineering.

8.IlpuMepHbIii TEKCT /sl yCTHOTO pedeprpoBaHus

IIpoyuTaiiTe TEKCT U MOATOTOBbLTE YCTHBIN pedepar HAa HHOCTPAHHOM f3bIKE.


https://www.mtu.edu/mechanical/research/thrusts/aim/
https://www.mtu.edu/mechanical/research/thrusts/aps/

Electric vehicles

Generally speaking, EVs can be classified into three main categories: hybrid electric vehicles
(HEVs), plug-in hybrid electric vehicles (PHEVS), and battery electric vehicles (BEVSs). These
three alternatives have a decreasing reliance on an internal combustion engine and an increased
reliance on grid power. HEVs are dually powered by electricity and gasoline, requiring only gas
tank refills, and no electric plugs. The battery is recharged by the car’s regenerative braking
system. PHEVs also require gas refills, but the battery can be recharged both through the car’s
braking system and external sources of electricity. Finally, BEVs are comprised of only a
rechargeable battery, which requires plugging into an external electrical energy source.” Since an
increasing amount of grid power comes from renewable sources, the BEV is more
environmentally friendly than the PHEV, which, in turn, is more environmentally friendly than
the HEV. Additionally, BEVs use cheaper fuel (electricity vs gasoline), require less
maintenance, score their owner a tax credit as high as $7500, and hold the privilege of cruising in
the HOV lane at any time.

However, owning a BEV does come with downsides. First and foremost, the initial investment is
not always the most affordable, since the prices of new BEVs range from $30,000 to
$80,000+. One of the most economic BEVs, the 2020 Tesla Model 3 starts at $35,000. In
addition, an electric-powered transportation system is not necessarily the most convenient.
Rather than being able to spend less than 10 min at the nearest gas station, EVs require hours of
charging time. After that, a full battery can last an average of 200-400 miles, with the Model 3
driving up to 250 miles on one full charge. This range degrades with battery usage and with cold
weather resulting in ranges substantially shorter than their gasoline counterparts.

Despite these shortcomings, EVs comprised 2.5% of new vehicles that were sold globally in
2020. The market share from EVs is expected to grow significantly with an expected market
share of 32% by 2030. Much of this growth is seen in three regions — China, Europe, and the
United States. Past 2030, the growth of EVs is likely to decrease, as other regions lack the wealth
to develop the infrastructure necessary to support EVs. These infrastructure changes, including
charging stations and increased electricity capacity, will require multi-billion-dollar capital
investments, which is not feasible for numerous countries. Even with the infrastructure changes,
the high costs of EVs will limit their usage in poorer countries. Unfortunately, to make a long-
term, environmental impact, EVs will need to phase out gasoline-powered vehicles. With the
current limitations and costs of the EV, this is not possible.
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